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GROUP - A

Answer any five questions : 2x5

(o) Distinguish between internal debt and
external debt.

(b) What are the merits of value added tax ?

(¢) Distinguish between private cost and social
cost.

(d) What is non-use value of environmental
resource ?

(¢) What is Laffer curve ?

(f) Distinguish between progressive taxation and
proportional taxation.

(g) What do you mean by deficit financing ?

(#) What is balanced budget multiplier ?

GROUP — B

Answer any three questions : 5x3
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2. What are the argumcnts in favour of capital
gains tax ?

3. Explain the factors on which the sharing of
the burden of a sales tax between the buyers and
sellers depend in a competitive market.

4. Write the characteristics of public goods.

S. Discuss the role of fiscal policy in a developing
economy.

6. Distinguish among different concepts of deficit
in budget.

7. Write the concepts of WTP and WTA.
GROUP - C
Answer any two questions : 10x 2

8. Do you think that internally held public debt
involves a burden on the economy ? Explain. - 10

9. Explain the different components of budget. 10
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10. Explain the effect of income tax on work effort =
and savings. ’ 5+5.

11. Explain the concept of environmental externalities.

Derive the optimal level of pollution. 5+5
[ SECOND HALF]
[ Marks : 45 ]
GROUP —A
1. Answerany five questiong : 2x5 e
(a) Whatis shadow price?
(b) What do you mean by social cost of a
project 7
(¢) What is Consumption Possibility Locus
(CPL)?
(d) What is Benefit Cost Ratio (BCR) ?
(¢) What do youmean by slack veriables ?
(f) Setupa'diet problem'as a standard example "

of a LPP.
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(g) Find price elasticity of demand for the
' demand function p = 130 - 3q at g = 35.

(h) Test the degree of homogeneity of the
production function 0= 4K °L".

GROUP - B

Answer any three questions : 5x3

2. For two interdependent industry input output
model, prove that X= (/- 4)™! C where X stands
for gross output-matrix, 4 is the input coefficient
matrix and C is the final demand matrix.

3. Formulate the dual of the following LPP: .

Min C = 10x, + 14x,

sub. to x,+2x,26
x,+5x,24
3x,+x,23
X, %20

4. Show that the income consumption curve (i.e., the
Engel curve) of a consumer is a straight line for -
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the utility function U=gq;-q,, a>0. Where
g, and g, are the quantities of the goods that he
consumes. '

5. Analyse the social rate of discount for the choice
of a project.

6. Calculate the equilibrium values of income Y and
the rate of interest r for the following model :

C=08Y+20
I =80-03r
M?=033Y-3r
M =200
Y =C+1,

the symbols have their usual meaning.

7. The demand and supply functions of a commodity
are given by

gd = 203_ £ and g* = p/2 respectively.

If the commodity is sold in a perfectly competitive
market, what will be the amount of consumer's

surplus ?
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' GROUP - C
Answer any two questions : 10x2

8. (i) Explain what doyou mean by feesible region
inL.PP. 5

(ii) Solve the following L.P.P. by Simplex
methods :
Max Z=4x+ 6y
sub. to %x+ys4
2x+y<8
4x -2y <2
x,y20. 5

9. Explain the Net Present Value (NPV) and the
Internal Rate of Return (IRR) methods of project
evaluation. 10

10. Let the utility function and the budget
constraint of a consumer be given by u=xy and
P,-x + P,-y = 100 respectively.

(i) Find the individual demand for x and .

(#7) Show that these functions are homogeneous
of degree zero in absolute prices and incomes.
: 7+3
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11. Given the input matrix and final demand vector

0-05 0-25 0-34 1800
4=]0-33 0-10° 0-12|, d=| 200
019 038 0 900 |

() Explain the economic meaning of the
elements 0-33, 0 and 200.

(ii) Explain the economic meaning of the third
-column sum of 4 matrix.

(iii) Check whether the data given in this
probiem satisfy the Hawkins-Simon
condition. §+21+4
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(if) Simplex *f¥% nww Rare LPP f vmigi=
;e ‘

Max Z=4x + 6y
1
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2x+y<8
4x-2y<2
x,y20. ¢
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